
SpeedMerchant Parts Listing
Part # Description Quantity Retail Price
#1253 Rev.3/4 CF Bottom Plate Qty.1 $11.95

#1254 Rev. 4.5/5/WGT CF Bottom Plate Qty.1 $16.95

#1256 SpeedMerchant CF Pivot Plate Qty.1 $6.95

#1259 Rev.3/RoadKill 12 Tweak Plate Qty.1 $7.95

#1260 Rev.4/5/WGT Tweak Plate Qty.1 $12.95

#1261 Rev 4.5 Top Plate Qty.1 $10.95

#1262 Rev.3/4/RoadKill 12 Top Plate Qty.1 $7.95

#1263 Suspension Link Set (Short Ends) Set $8.95

#1265-S E/Z Adjust 4-40 Rod Ends (Short) Qty.2 $3.95

#1266 4-40 Threaded Suspension Balls Qty. 5 $5.95

#1267 High Roll Center Cones Qty. 5 $3.95

#1268 Low Roll Center Cones Qty. 5 $3.95

#1269 Plastic Pivot Socket Qty.1 $2.95

#1270 Machined Plastic Pivot Socket Qty.1 $5.95

#1272 Rev.3/SpdSpc Tweak Standoffs Qty.2 $3.95

#1273 Rev.4/5/6/7 & WGT1/2/3 Tweak Brace  Stand-Offs Qty.2 $3.95

#1274 Rev.3/R.K./S.S. Battery Standoffs Qty.2 $2.95

#1276 Battery Retention O-Ring (Std) Qty.1 $0.99

#1277 Thin Battery Retention "Pro"-Ring Qty.1 $0.99

#1278 12th Scale Body Mounts Qty.2 $3.95

#1279 Progressive Tweak Spring Carriers w/Screws Qty.2 $5.95

#1280 "Old Skool" Front Arms (L & R) Qty.2 $6.95

#1281 "Old Skool" Steering Blocks Qty.2 $3.95

#1282 "Old Skool" Front King Pins Qty.2 $5.95

#1283 1/12 Front Springs .016 Qty.2 $3.95

#1284 1/12 Front Springs .018 Qty.2 $3.95

#1285 1/12 Front Springs .020 Qty.2 $3.95

#1286 1/12 Front Springs .022 Qty.2 $3.95

#1287 1/12 Front Springs .024 Qty.2 $3.95

#1288 Alum. Ride Height Washers .063 Qty.6 $1.95

#1289 4-40 Front Axles w/ Hardware Qty.2 $9.95

#1290 #1 Rear Axle Ride Height Adjusters Qty.2 $1.95

#1291 #2 Rear Axle Ride Height Adjusters Qty.2 $1.95



#1292 #3 Rear Axle Ride Height Adjusters Qty.2 $1.95

#1293 #4 Rear Axle Ride Height Adjusters Qty.2 $1.95

#1294 Front Suspension Spacers (For 1/10th Scale) Qty.2 $1.95

#1295 Alum. Ride Height Washers .033  Qty.6 $1.95

#1296 Complete 'Old Skool' Front End Set $24.95

#1297 1/12 Steering Tie-Rods 1 5/8" (Steel) Qty.2 $5.95

#1298 4-40 Ball Cups (Long) Qty. 4 $3.95

#1405 1/12 Rev.4 Competition Full Kit Kit $350.00

#1406 Rev.2 & 3 To Rev.4 Conversion Conversion $69.95

#1407 Asc. 12L To Rev.4 Conversion Conversion $125.00

#1410 1/12 4-Cell Rev 4.5 Full Kit Kit $395.00

#1412 Formula Rev.5 Competition Kit Kit $435.00

#1413 1/12th Rev.5 4-Cell Sport Kit Kit $375.00

#1414 1/12 Rev.5 Lipo Comp Kit Kit $435.00

#1415 Rev.5 Lipo Sport Full Kit Kit $385.00

#1416 Rev.5 4-Cell to Rev.5 Lipo Conv. Conversion $79.95

#1418 1/12th Rev.4 Competition Chassis Qty.1 $49.95

#1419 Rev.5 4-Cell CF Main Chassis Qty.1 $49.95

#1420 Rev.3 Battery Tray #1 Qty.1 $5.95

#1421 Rev.4/5/WGT Battery Brace Qty.1 $5.95

#1422 SpeedMerchant Machined Damper Tube Qty.1 $12.95

#1423 2-56 Plastic Ball Cup Qty. 2 $2.95

#1424 4-40 Ball Cups (Standard) Qty. 4 $3.95

#1430 Plastic Servo Mounts (Straight) Qty. 2 $4.95

#1432 Antenna/Shock Mount Qty.1 $3.95

#1435 Aluminum Axle Spacer Qty.1 $1.95

#1437 HPS Super Micro Shock  (Black) Qty.1 $24.95

#1437A Micro Shock Teflon Piston Qty.1 $4.95

#1438 1/8" Hardend Differential Balls Qty. 8 $3.95

#1439 100 T. 64 Pitch Differential Gear Qty.1 $3.95

#1440 1/12 3 Bolt Axle Qty.1 $17.95

#1442 1/12 3 Bolt Diff. Hub Qty.1 $8.95

#1443 1/12 Differential Rings Qty.2 $1.50

#1444 1/12 3 Bolt Left Side Hub Qty.1 $9.95

#1449 Xenon 88T 64 Pitch Differential Gear Qty.1 $5.95

#1450 1/12th Large D-Ring Pro Axle Set Set $69.95

#1451 Large D-Rings for Pro Diff Qty.2 $3.95



#1453 1/12 Scale Left Side Clamp Hub Qty.1 $19.95

#1455 Rev.5 Delrin Pro Pod Set Set L & R $29.95

#1458 Carbon Fiber Motor Washer Qty.1 $3.95

#1460 Rev.5/WGT Top Plate Qty.1 $8.95

#1462 Rev.5/WGT Back Plate Qty.1 $9.95

#1465 Rev.5,6,7/WGT1,2,3 Alum Pod Set (Black) Set L & R $49.95

#1467 4-40 1/4" Polished Alum Balls Qty. 2 $2.95

#1468 1/8th Hole 1/4" Aluminum Balls Qty. 2 $2.95

#1475 Rev.5 Lipo Main Chassis Qty.1 $54.95

#1478 Rev.5/WGT Lipo Bottom Plate Qty.1 $17.95

#1480 Rev.5/WGT Lipo Tweak Brace Qty.1 $12.95

#1483 HPS Teflon Micro Shock (Black) Qty.1 $29.95

#1484 HPS Shock Rebuild (1 O-Ring, 1 Bladder) Qty.1 $3.95

#1504 1/10 World GT 3.7 Lipo Chassis Qty.1 $64.95

#1505 1/10th Formula World GT 200mm Kit $450.00

#1506 1/10 WGT 4-Cell Sport Kit Kit $400.00

#1507 Formula World GT 3.7 Lipo Kit Kit $450.00

#1508 World GT 3.7 Lipo Conversion Conversion $89.95

#1509 1/10 WGT 3.7 Lipo Sport Kit Kit $400.00

#1510 SpeedSpec II 200mm Pan Car Kit $275.00

#1530 SpeedSpec Main Chassis (4-cell) Qty.1 $24.95

#1535 SpeedSpec Bottom Plate Qty.1 $9.95

#1537 SpeedSpec Top Plate Qty.1 $7.95

#1539 SpeedSpec Tweak Plate Qty.1 $7.95

#1541 SpeedSpec Pivot Plate Qty.1 $3.95

#1543 1/10 World GT Pro Axle Set (200mm) Set $69.95

#1549 1/10 Thrust Cone Qty.1 $1.95

#1551 1/10th Scale Body Post Set w/ collars & set screws Qty.2 $4.95

#1560 SpeedSpec II Main Chassis Qty.1 $29.95

#1563 SpeedSpec II Bottom Plate Qty.1 $9.95

#1565 SpeedSpec II Top Plate Qty.1 $4.95

#1567 SpeedSpec II Tweak Brace Qty.1 $6.95

#1570 SpeedSpec II Nerf Wings Qty. 2 $5.95

#1572 SpeedSpec II Battery Brace Qty.1 $3.95

#1575 SpeedSpec II Battery Hold Down Qty.1 $4.95

#1577 SpeedSpec II Bumper Qty.1 $7.95

#1600 Formula Front End - Rev. Series Set $69.95



#1602 Formula Front End - Asc. 12L Set $69.95

#1604 Formula Front End - Corally SP12x Set $69.95

#1606 Formula Front End - CRC Gen X Set $69.95

#1610 Formula CF Front Plate - Rev. Qty.1 $29.95

#1612 Formula CF Front Plate - 12L Qty.1 $29.95

#1614 Formula CF Front Plate - SP12x Qty.1 $29.95

#1616 Formula CF Front Plate - Gen X Qty.1 $29.95

#1619 World GT1 Formula Front Susp Plate Qty.1 $29.95

#1620 Formula Inside Link w/Hardware Qty.2 $4.95

#1624 Formula 1/8th KingPin Link End Qty.2 $3.95

#1628 Formula Front End King Pin Qty.2 $5.95

#1632 Formula Front Turnbuckles Qty.2 $4.95

#1636 Formula Front Teflon O-Rings Qty.2 $3.95

#1638 Formula Machined Steer Blocks Qty.2  L & R $9.95

#1650 F2 Front Suspension Plate 12th Qty.1 $29.95

#1651 F2 Front Susp Complete (SM) Set $69.95

#1652 Max Width F2 Front Plate 12th Qty.1 $29.95

#1653 Formula 3 Suspension Plates (L & R) Qty.2  L & R $29.95

#1655 World GT1 Nerf Wings (4-Cell) Qty. 2 $9.95

#1660 F2 Front Susp Plate WGT1 200mm Qty.1 $29.95

#1665 F2 Susp. Plate RoadKill 10 235mm Qty.1 $29.95

#1670 F2 CF O-Ring Retainers w/Screws Qty. 2 $6.95

#1674 Black Ride Height Spacers 3/16" Qty. 6 $4.95

#1675 Black Ride Height Spacers 1/4" Qty. 6 $4.95

#1676 Black Ride Height Spacers 5/16" Qty. 6 $4.95

#1677 Black Ride Height Spacers 3/8" Qty. 6 $4.95

#1678 Black Ride Height Spacers 7/16" Qty. 6 $4.95

#1679 Black Ride Height Spacers 1/2" Qty. 6 $4.95

#1680 Formula 2,3  Ride Height Shim .01" Brown Qty. 2 $3.95

#1681 Formula 2,3 Ride Height Shim .02" Yellow Qty. 2 $3.95

#1682 Formula 2,3 Ride Height Shim .03" Orange Qty. 2 $3.95

#1683 Formula 2,3 Ride Height Shim Set 2 Each Qty. 6 $9.95

#1685 Sport WGT1 Nerf Wings (FiberG) Qty. 2 $3.95

#1687 Sport WGT1 Bumper (FiberG) Qty.1 $7.95

#1700 1/12th Formula Rev.6 Race Kit Kit $435.00

#1705 1/12th Rev.6 Sport Kit Kit $385.00

#1710 Rev.5,5L to Rev.6 Conversion Kit Kit $99.95



#1715 World GT2 Competition Kit Kit $450.00

#1720 World GT2 Sport Kit Kit $400.00

#1730 1/12th Rev.7 Formula Kit Kit $425.00

#1735 1/12th Rev.7 Sport Kit Kit $395.00

#1737 1/12th Rev.7 Custom Kit Kit $265.00

#1740 1/10th World GT3 Formula Kit Kit $445.00

#1745 1/10th World GT3 Sport Kit $415.00

#1747 1/10th World GT3 Custom Kit Kit $275.00

#1750 Rev.6/World GT2 Bottom Plate Qty.1 $17.95

#1751 Rev.7/WorldGT3 Bottom Plate Qty.1 $17.95

#1755 Rev.6/World GT2 Top Plate Qty.1 $8.95

#1756 Rev.7/WorldGT3 Top Plate Qty.1 $9.95

#1757 Rev.7 Battery Brace/Shock Mount Qty.1 $6.95

#1758 World GT3 Battrey Brace/Shock Mount Qty.1 $6.95

#1759 Rev.7/World GT3 Battery Brace Stand-Offs Qty. 2 $4.95

#1760 Rev.6/World GT2 Back Plate Qty.1 $9.95

#1761 Rev.7/WorldGT3 Back Plate Qty.1 $9.95

#1765 Rev.6 Tweak Brace Qty.1 $12.95

#1766 Rev.7 Tweak Brace Qty.1 $14.95

#1770 World GT2 Tweak Brace Qty.1 $13.95

#1771 World GT3 Tweak Brace Qty.1 $18.95

#1772 Rev.7 Optional Shock Mounts Set $29.95

#1773 World GT3 Optional Shock Mounts Set $24.95

#1774 World GT3 Carbon Fiber Bumper Qty.1 $19.95

#1775 Rev.6 Main Chassis Qty.1 $49.95

#1776 Rev.7 Main Chassis Qty.1 $59.95

#1780 World GT2 Main Chassis Qty.1 $59.95

#1781 World GT3 Main Chassis Qty.1 $69.95

#1785 Carbon Fiber Link Set Complete Set $29.95

#1786 Carbon Fiber Links (Just CF Links) Qty. 2 $14.95

#1787 Adjustable Carbon Fiber Pivot Plate (For CF Links) Qty.1 $6.95

#1790 Machined Old Skool Complete Suspension Set $34.95

#1791 Machined Old Skool Arms (L&R) Qty. 2 $9.95

#1795 Rev.7 Conversion (5, 5L & 6 to Rev.7) Conversion $124.95

#1796 Rev.7 Narrow Diff Side Hub (Brushless Off-Set) Qty.1 $19.95

#2010 4-40 x 1/4 Pan Head (Steel) Qty.5 $1.99

#2012 4-40 x 3/8 Pan Head (Steel) Qty.5 $1.99



#2014 4-40 x 1/2 Pan Head (Steel) Qty.5 $1.99

#2016 4-40 x 5/8 Pan Head (Steel) Qty.5 $1.99

#2020 4-40 x 1/4 Cap Head (Steel) Qty.5 $1.99

#2022 4-40 x 3/8 Cap Head (Steel) Qty.5 $1.99

#2024 4-40 x 1/2 Cap Head (Steel) Qty.5 $1.99

#2026 4-40 x 3/4 Cap Head (Steel) Qty.5 $1.99

#2028 4-40 x 1 1/4 Cap Head (Steel) Qty.5 $1.99

#2030 4-40 x 1/4 Button Head (Steel) Qty.5 $1.99

#2032 4-40 x 3/8 Button Head (Steel) Qty.5 $1.99

#2034 4-40 x 1/2 Button Head (Steel) Qty.5 $1.99

#2040 4-40 x 1/4 Cap Head (Nylon) Qty.5 $1.99

#2042 4-40 x 3/8 Cap Head (Nylon) Qty.5 $1.99

#2044 4-40 x 1/2 Cap Head (Nylon) Qty.5 $1.99

#2045 8-32 x 3/4 Stainless Screws Qty.4 $1.99

#2046 8-32 x 1/2 Stainless Screws Qty.4 $1.99

#2047 8-32 x 5/8 Alum Screws (Blue) Qty.3 $1.99

#2048 8-32 x 1/2 Alum Screws (Blue) Qty.3 $1.99

#2050 8-32 x 5/8 Pan Head (Steel) Qty.3 $1.99

#2052 3mm x 6mm Cap Head (Steel) Qty.5 $1.99

#2053 3mm x 8mm Cap Head (Steel) Qty.5 $1.99

#2054 3mm x 10mm Cap Head (Steel) Qty.5 $1.99

#2056 3mm x 14mm Cap Head (Steel) Qty.5 $1.99

#2058 3mm x 25mm Cap Head (Steel) Qty.5 $1.99

#2060 2-56 x 1/4 Button Head (Steel) Qty.5 $1.99

#2063 2-56 x 3/8 Set Screw (Steel) Qty. 2 $1.99

#2064 4-40 x 1/8 Set Screw (Steel) Qty.5 $1.99

#2066 4-40 x 1/2 Set Screw (Steel) Qty.3 $1.99

#2067 2-56 Ball Studs Short Thread Qty.2 $2.99

#2068 2-56 Ball Studs Long Thread Qty.2 $2.99

#2069 4-40 Low Profile Steel Ball Stud Qty.2 $2.99

#2070 4-40 Ball Studs (Aluminum) Qty.2 $2.99

#2072 2-56 Mini Flat Nuts (Steel) Qty.5 $1.99

#2073 2-56 Micro Flat Nuts Qty. 5 $1.99

#2074 2-56 Lock Nuts (Steel) Qty.5 $1.99

#2075 2-56 Mini Lock Nuts (Aluminum) Qty. 3 $2.99

#2076 4-40 Mini Flat Nuts (Steel) Qty.5 $1.99

#2077 4-40 Flat Micro Nuts Qty.5 $1.99



#2078 4-40 Flat Nuts (Steel) Qty.5 $1.99

#2080 4-40 Mini Lock Nuts (Aluminum) Qty.3 $2.99

#2081 4-40 Lock Nuts Low Profile (Aluminum) Qty.3 $2.99

#2082 4-40 Lock Nuts (Steel) Qty.5 $1.99

#2083 8-32 Low ProfileLock Nut (Aluminum) Qty. 3 $1.99

#2084 8-32 Lock Nuts (Steel) Qty.5 $1.99

#2085 8-32 Nylon Locknuts Qty.5 $1.99

#2086 10-32 Lock Nuts (Steel) Qty.5 $1.99

#2087 #4 Countersunk Dress Washers Qty.5 $1.99

#2088 #4 Hole Flat Washers (Steel) Qty.10 $1.99

#2089 #6 Hole Flat Washers (Steel) Qty.10 $1.99

#2090 1/4 Inch Shims Qty.5 $1.99

#2091 1/8 Inch Shims Qty.5 $1.99

#2092 1/8 Inch E-Clips Qty.10 $1.99

#2093 Body Clips Qty.5 $1.99

#5000 1/4" x 3/8" Un-flanged Bearing Qty. 1 $3.95

#5001 1/4" x 3/8" Flanged Bearing Qty. 1 $3.95

#5002 1/8" x 5/16" Un-Flanged Bearing Qty. 1 $3.95

#5003 1/8" x 5/16" Flanged Bearing Qty. 1 $3.95

#5004 1/4" x 1/2" Ball Bearing (Tamale Adjustable Pods) Qty. 1 $4.95

#5006 Aluminum T-Plate Pivot Balls (Blue) Qty. 2 $4.95

#5011 3/4" Blue/Silver Dress Stand-offs Qty.2 $9.95

#5012-B Dress Battery Stand-Offs Qty.2 $7.95

#5013 1" Blue/Silver Dress Turnbuckle Qty.2 $5.95

#5015Blu "Old Skool" Front End Braces (Blue) Qty.2 L & R $24.95

#5015Blk "Old Skool" Front End Braces (Black) Qty.2 L & R $24.95

#5020 *** 1/12th Scale Wheel Dots Qty.12 $0.99

#5020P 1/12th Wheel Dots (Hot Pink) Qty.12 $0.99

#5020W 1/12th Wheel Dots (White) Qty.12 $0.99

#5020Y 1/12th Wheel Dots (Flr. Yellow) Qty.12 $0.99

#5022 *** 1/10th Scale Wheel Dots Qty.12 $0.99

#5022P 1/10th Wheel Dots (Hot Pink) Qty.12 $0.99

#5022W 1/10th Wheel Dots (White) Qty.12 $0.99

#5022Y 1/10th Wheel Dots (Flr. Yellow) Qty.12 $0.99

#5024 Battery Strapping Tape (Thin/Low Friction) Roll $4.95

#5025Blu New Aluminum Steering Blocks (Blue) Qty.2  L & R $24.95

#5025Blk New Aluminum Steering Blocks (Black) Qty.2  L & R $24.95



#5028 10th Oval Alloy Shk./Ant.  Mount Qty. 1 $14.95

#5030B Angled Servo Mounts (Blue) Qty. 2 $9.95

#5030P Angled Servo Mounts (Purple) Qty. 2 $9.95

#5031B Straight Servo Mounts (Blue) Qty. 2 $9.95

#5031P Straight Servo Mounts (Purple) Qty. 2 $9.95

#5035B Alloy Lower Front Arm Set (Blue) Qty. 2 $39.95

#5037 Low Roll Dynamic Caster Blocks Qty. 2 $25.00

#5040 Rev. 2,3,4 Alloy Bulkhead Set Set $49.95

#5043 Rev. 4.5 Alloy Bulkhead Set Set $49.95

#5045 Carbon Fiber Spooge Stand Set $19.95

#5050B "Gear Up" Bulkhead Set Set $49.95

#5050P "Gear Up" Bulkhead Set Set $49.95

#5052 8" Solid Carbon Fiber Roll Over Antenna Qty. 1 $12.95

#5053 8" Fiberglass Roll Over Antenna Qty. 1 $5.95

#5054 8" Hollow Carbon Fiber Roll Antenna Qty. 1 $12.95

#5055Blk Dress Motor Washers - Black Qty. 2 $2.95

#5055Blu Dress Motor Washers - Blue Qty. 2 $2.95

#5055Gld Dress Motor Washers - Gold Qty. 2 $2.95

#5055Pur Dress Motor Washers - Purple Qty. 2 $2.95

#5055Red Dress Motor Washers - Red Qty. 2 $2.95

#5057 Ride Height Shim Set  "Old Skool" (.02 Yellow .03 Orange) Qty.4, 2 Sets $7.95

#5061 Progressive Tweak Springs .021 Qty. 2 $3.95

#5062 Progressive Tweak Springs .023 Qty. 2 $3.95

#5064 Linear Spring Carriers & 6-32 Set Screws Qty. 2 $5.95

#5065 Linear Tweak Spring Conversion (Hardware & .018 .020 .022 .024) Set $19.95

#5066 Linear Tweak Springs .018 Qty. 2 $3.95

#5067 Linear Tweak Springs .020 Qty. 2 $3.95

#5068 Linear Tweak Springs .022 Qty. 2 $3.95

#5069 Linear Tweak Springs .024 Qty. 2 $3.95

#5070 On-Road Wheel Balancing Tape (3-Feet) Roll $0.99

#5071 Trans. Pro-Wrap 4 inch x 15 feet Roll $5.95

#5072 Double Sided Mounting Tape Roll $4.50

#5074 SpeedMerchant Side Link & 2-56 Ball Stud O-Rings Qty.4 $1.95

#5075 O-Rings for 4-40 Ball Studs Qty.10 $2.95

#5077 Pivoting Body Washers (4) Qty. 4 $3.95

#5080B Tube Spooge - Blue - Thick Qty. 1 $5.95

#5080G Tube Spooge - Green - Thin Qty. 1 $5.95



#5080R Tube Spooge - Red - Medium Qty. 1 $5.95

#5085 "Speed Metal" Laydown Silver Brushes Qty. 2 $5.00

#5087BLK Brushless WireWrap (Black) 1 Foot $2.95

#5087BLU Brushless WireWrap (Blue) 1 Foot $2.95

#5087CLR Brushless WireWrap (Clear) 1 Foot $2.95

#5087GRN Brushless WireWrap (Green) 1 Foot $2.95

#5087RED Brushless WireWrap (Red) 1 Foot $2.95

#5087YEL Brushless WireWrap (Yellow) 1 Foot $2.95

#5090 SpeedMerchant Sticker Sheet Sheet $4.95

#5091 SpeedMerchant Team T-Shirt Small $14.95

#5092 SpeedMerchant Team T-Shirt Medium $14.95

#5093 SpeedMerchant Team T-Shirt Large $14.95

#5094 SpeedMerchant Team T-Shirt X-Large $14.95

#5095 SpeedMerchant Team T-Shirt XX-Large $16.95

#5096 SpeedMerchant Team T-Shirt XXX-Large $16.95

#5097 4 Inch Tie Wraps (Black) Qty. 10 $1.95

#6000 SpeedMerchant Speed-Ray 12 Conversion Conversion $175.00

#6010 SpeedMerchant Speed-Ray 10 Conversion Conversion $185.00

#6020 SpeedMerchant Gen-XL Inline Conversion Conversion $140.00

#6030 SpeedMerchant Asc 5.1 LiPo Damper Conversion Conversion $80.00

#7000 SpeedMerchant Front Springs .016 Qty. 2 $3.95

#7001 SpeedMerchant Front Springs .017 Qty. 2 $3.95

#7002 SpeedMerchant Front Springs .018 Qty. 2 $3.95

#7003 SpeedMerchant Front Springs .019 Qty. 2 $3.95

#7004 SpeedMerchant Front Springs .020 Qty. 2 $3.95

#7005 SpeedMerchant Front Springs .021 Qty. 2 $3.95

#7006 SpeedMerchant Front Springs .022 Qty. 2 $3.95

#7007 SpeedMerchant Front Springs .023 Qty. 2 $3.95

#7008 SpeedMerchant Front Springs .024 Qty. 2 $3.95

TT7000 Rev.7 Adjustable Rear Pod Set Set $95.00

TT7005 Asc. R5.1 Adjustable Rear Pod Set Set $95.00

TT7006 Asc. R5.1 LiPo Adjustable Rear Pod Set Set $95.00

TT7010 CRC Gen-X Adjustablr Rear Pod set Set $95.00

TT7015 Speed-Ray 12th & 10th Adj Pod Set(& New X-Ray 12) Set $95.00

TT7020 X-Ray XII 12th Adjustable Pod Set Set $95.00

TT7025 CFEX Adjustable Pod Set Set $95.00

TT7030 Serpent & On-Point Adjustable Pod Set Set $95.00



TT7035 TOP Rebel 12th Adjustable Pod Set (Just Back Plate Needed) Set $85.00

Areo1OR18 Aero1 1/18th Competition Race Body (2011 National Champ) Qty. 1 $19.95

smrjaco2738 Jaco 1/12 Prism Wheel/Tire Front Lilac Qty. 2 $16.00

smrjaco2742 Jaco 1/12 Prism Wheel/Tire Front Black Qty. 2 $16.00

smrjaco2930 Jaco 1/12 Prism Wheel/Tire Rear Pink Qty. 2 $18.00

smrjaco2932 Jaco 1/12 Prism Wheel/Tire Rear Magenta Qty. 2 $18.00

smrjaco2832 Jaco 1/12 Prism Wheel/Tire Rear Orange Qty. 2 $18.00

smrjaco2100 Jaco 1/10 WGT Spec Wheel/Tire Front Lilac {New White Rims} Qty. 2 $23.00

smrjaco2110 Jaco 1/10 WGT Spec Wheel/Tire Rear Lilac {New White Rims} Qty. 2 $25.00


